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Operations on Functions

1) Let's Go Over the Homework and
finish p.3

2) Take little quiz on simplifying
radicals and re-writing the forms

3) Notes on Operations of Functions

Refresher:

Iff(x)=3x2+2x -4

Find f(3)

Find f(x+1)
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Ex: Let f(x) = 3x + 2 and g(x) = 4 - 5x

Find:
a) f(x) + g(x) b) f(x) - g(x)
c) f(x) * g(x) d) f(x)

Try another. Find the sum,
difference, product and quotient
with the given.

f(x):xz—ﬁl ‘ g(x):3x+l
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f(x):x2—4 g(x):3x+l

Sum Product

(f|+ 8)x) = flx) + g(x) (f - 8)x) = flx) - glx)

'-¢) + (3x+1) (59 ()

43k -3

(
Difference Quotient 2
(= 8¥) = f) - 5) (L)) - £2 A -4
g g
(=92 3x+1) Sx+l
(A
X=q-3¢-1

ADDING & SUBTRACTING RADICALS

@ SIMPLIFY all radicals.

Identify radicals with the SAME INDEX and SAME RADICAND|
Only these can be combined!

For common radicals, add/subtract the coefficients and
KEEP THE COMMON RADICAL.

1. 327 -2 2. 354-22+7{16
3. 7442 3im ‘4. 10428 +4-56 - 4175



operations on Functions and Domain.notebook February 02, 2017

Multiplying Radicals
@

‘ SIMPLIFY the resulting radical.

Multiply coefficients, then use the PRODUCT RULE: a - Ub =

1) V2745 2) 3Vi0. 218

3) WSM 4) J-3a’5* -336a°>

Try These:
a) V10(5V5-2V2) b) (8-+10})(3-V10)



operations on Functions and Domain.notebook February 02, 2017

Operations with Radical Functions

Find the sum, difference, product and
quotient with the given.

[(x)=5VZr+1 | g(x)=3V2x-1

f(x)=5\/£+l g(x)=3\/2_x—l

Sum Product

(f + g)x) = flx) + g(x) (f - g@)x) (x) - g(x)
(5V2% +1)+(3(2x - *) (;ﬁ?\\(sr—f)

¥l +
SJ(__ W2 - 15(1x) - 5@4—3\6 -
% Quotient @D
(f — 8)x) = flx) —g(x) (i)(x) _ [
(SV2x +1)=(302z -1) £
5 2x +
SV2x +1 =3(2x + | S
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Operations with Rational Exponent Form

f (Jc):l()x”2 g(x):SJc”2

g (x) =5x"

f (x) =10x""
Sum
(f + 8)@) = fx) + g)

mxé+5xﬁ

Difference

(f — 8)x) = flx) — g(x)
d

/Dké-Exz

Product
(f - 8)x) = flx) - glx)

J0x* . 5

4,1
$0x* - G0

Quotient

(g)(x) - %
i) 1
Ox” = 2x
SK*

-4
2 ]
= Ay =20)¢)

February 02, 2017



operations on Functions and Domain.notebook February 02, 2017

HW :wkst on Operations with
Functions




